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g entific calculator find the following correct to four decimal places:
: 3 1?2 « <\
(1) _( 12 ‘_l_“?- )
!
! i d

\[| €OS 9 +sin 46° |
!

=51 —
(1) Ve log, 6 xsinh (0.6972)
1In 3 S 8 « () 6467
(In3.5)x{cos 64 5%)x ([tan 467) l '

(b) A rat has : A o ,
] a mass M) erams at birth. 1t reaches matunty n 1 months I'he rate of erowth
1S I‘\\\d\‘lﬁ(:v by the ¢ o . dm . - o o\
ca DY UK cquation — - 120 \; | YRSt 1) where m grams 18 the mass of ”w

‘7
(i

rat. r months alter bt
| 10NN dter birth. Uise the scientilic « Uculator (O find the mass of the rat when

fully erown

(a3) 11 Lann express sinh md coshx in terms ol
(D) | LPress sinh ) In x 10 terms O natu | loganthms henc find the Himi —p X0
|
| l“.“u.ll' ! — — L\ oot | O ! 1 il
. “.l - N1 |
3 (a) Mr Mutu takes two types of vitamin pills. He must have ai st | nits mun A.
ymin C. He can ¢choose beiween Pl M which

S units of Vit B and 0 unts ol V)
 oill N which contains 2 units of

contains 8 umis ol A | unit of B and ) units of C; and
A | unit Ol B and units of L Pill M costs 150 sh lines and pill N COSiS M0
wh ivype should he buy i« rder 10 mummezs e cost?

chillings. How many mils of ea

< in Dar es Salaam and Morogor and retailers n Tanga and

(b) A TV dealer has store
respectively while the

Dodoma The stores Nave

J \:_U\." ol 45 l\ !7':\1 -} [\ STES
If the cost of

requirements of the retamlers are 35 and 30 TV sets respectively
. TV set from Dar es Salsam 10 Tanga is Tsh 3O00F= and from Dar &

transporung §
Salaam 10 Dodoma 15 T<h 9.000i=, from Morogaro 1o Dodoma 15 Tsh L 000= and
Morogoro to Tanga is Fsh 6 000/=

How should the TV dealer su { TV sets at minimum cost?

) “PI!\ the I\'\lHL‘\L\_'\
What 15 the minumum cost”?
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s classified in equal intervals of size C

nd the total frequencies is N. If the data (s
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(a)

(b)
(c)

(d)

(a)

(b)

(<)

(d)
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the circle *"“)”-2:«&-4)'-3;0 ‘

(1)  Show whether [%a:mu(x).whau is a constant.

(1) Fmdjoos 2xc0o8 4xcos 6x dx .

Evaluate L’ XSin xcos xdx .

Find the area of the region bounded by the curve y=3x" ~2x+1, the lines x+1=(
x-2=0and y=0, - e

The area between the curve 3x" 4+ y* =9 and the y — axis from y=-3 1o y=3 i§
rotated about the y-axis. Find the volume of the solid generated.

Find the denivative of 2 +cos 3x from first principle.
X

Use the Taylor theorem to obtain the series expansion for ms( x+§] stating terms

including that in x'. Hence obtain a value for cos61° giving your answer comect 10

five decimal places.
Show whether the line 2x—y=0 and the curve 4x° —dxy+ yar-8y+10=0

intersect at a right angle.

. & i '4. g
A two variable function f is defined by = flx.y)=x* +xy+y"; find 5; ..M






